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v So Lution 1 The person with the largest share is x.

'he second personis x—5

ne third person is x—10

ne fourth person is x—15

ne fifth person is x—20

Also,1kanme jg 1 0QQmonme,

S0,

X+ X—5)+X—10)+(x—15)+(x—20)=1000
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5% =1050

x=210

Accordingly,the first person's share becomes 210monme,
So, substitute x=210 for 2~5

The first person : 2]1(Qmonme

The second person : 205monme

The third person : 200me

The fourth person : 195monme

The fifth person : 19Qme

Whes this is added to-1,000 “™ it becowmes 1,050 . Solution 2 t subtract 50mefrom 1kanme(1000me)
Divide this by S people. 1050 " divided by 5" is 210 = . 1000—50=950

Thenefone, the perdon with the langedt shane And 1t divides 950 by 5 people.

s 210 ", Aso, subtnacting S0 "™ fnoemw 1000 "™ 950+-5=190

This 1s the fifth person’s share.
950 " divided by S is 190"<.

thenefone, the[r.efl.lanwiththed.ma[[eitd.ha:uzi:{ 190, - Solution 3 5_1)man><5:20monme
Ao, when you subtnact 1000 fromwe 50", it will be 950 This 1s the sum of the first and fifth differences relative
I you divide this by O people, it will be 190", Yhis is the S take. to the third.
20monme+2 — 10m0nme
2. Since it dechcaded by 5, i you multiply 57 by %, it becomes 20 This is the sum of the first and third, third and fifth
Shencfone, the diffenence between the pensdon with the langeat tabiing and the differences.

Amallest penrion L4 207, Divide this by 2, and it becomes 107, 5 cphanately Aside from this
1000 i1 divided by 5 people and it becomes 200 .cfdd 10" tothis and tabic this It divides 1kanme(1000me) by 5 people

ad the finat pnicnity. oHioc; in the fifth take, we Aubtnact 10 frowe 200 ¢t 7190. 1000 = 5=200me
Shene L4 .{omethl..ng. called n.e.{tl..n.g. calculation in the wonld, but this s the This is the third persons share
°42 4 . 4 ¢ declination : : .
dame. In addition tothis, thenre are vaniriioui queitiond in the Accordmgly the first person 200+ 10=210me
Method, but calculate o above. The fifth person 200—10=190me

gwiuab'bﬁeviatehehehhthathea.{m.
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Silver coins were determined the mass by balances and their value was decided.

At that time silver coins were irregular in shape and very inconvenient when used.

Silver coins had been sold at higher prices since the medieval period, but it was different
from Gold. Silver coins were fragile.

So silver coins have become a long and narrow silver called Tyogin.

Such casting of Ding Bin was done in Ginza. From the latter half of the sixteenth century
silver production increased in lwami Ginzan and Ginjo was used for mass transactions in
China and silvers have been used by marchants in Osaka. leyasu was unable to ignore
the power of merchants who took center of such silver trading and tried to pursue the
development at the monetary system by inheriting the existing system rather than

forcing the use of gold coins. A person in change KOTA Takasu
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[t was a question asking for each person s o= MITH AL TRSHIETRL—XIC
share when dividing the share otf 1000 mon TT&)%):tﬁ‘—G%f:o
silver by 5 people so that the share is reduced For the first time I learned about
by 5. summation.

2% (IR (future tasks ) I was worried that I could read and

understand this when [ saw the original

TEAITHRAEISHEWIRMREEERIZT H2 & sentence but, I was able to proceed
Make the living language that 1s as possible smoothly by cooperating with the group.
almost l1iving.
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Will have the contents which you can understand  mwmanc(2010)./rFwifiE®E® 41 0% 1 &k
more mathematically. Eﬂfg?
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We should have cooperated by English translation Kaede

' by more groups.
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